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3 x Ikea Units Display Cabinets, These units can either be used separately or put together to make one
large unit as shown in the picture (Combined Photo)The measurements are as followsUnit 1 W72cm x
H218cm x D40cmUnits 2 & 3 W37cm x H218cm x D40cmThey are in great condition, the only slight
problem is that unit 1 has two holes in the back of the unit, the first hole was to put some stereo wires
through when there was a Hi-Fi in the unit, and the second hole as you can see is for our phone wires
(But they cand€™1 be seen when the door is shut)You can change the position of all the shelves in all the
units and you can even change the position of the door on unit 1 (as you can see in the 2 different

South East, Oxfordshire

pictures)There is a great deal of storage in all of them and also Unit 1 comes with a light that attaches to

the top of the unit to shine into the top shelves (looks great when used)Units 2 & 3 could probably be
taken away complete but unit 1 would need to be dismantled or at least partially as it weighs a ton!, we
could dismantle them for the buyer but to be honest it would probably be better if the buyer was at least
present so they can see how it all goes back together again, unfortunately we have lost the instructions
but as they are lkea units ita€™s all straightforward to do.Please note we will not sell these

separatelyBuyer to Collect(Contents not included) £130.00,,.

07044347163
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